TR BRI R [ AR R SR
BEFLE9 : O01-A ] FER]

s . . il ek 2 H , .
%l' éﬁ Eljj %ﬁﬂ]?
= E ol 2| 3,464,890 1| 3,464,890
= ?ﬁn%ffﬁﬂ S 1 -
S| HERE = 1 -
pH W\F[FE’J\_ %E = 1 -
— 2 M ) 3,464,890
b | SigFIE (5% ™) S| 173,245 1 173,245
B \EERE G ETS (390.2%) S 6,930 1 6,930
TR (5%) S| 173,245 1 173,245
[ |2 AR A0%) = | 346,489 1 346,489
R 4,164,798
e[ 1. P8 TR R v A E[mﬂ%gl B BT+ T R E T RS R
DI DSTIAAE Rt ST I - T ARG R
2 49 AR *wélipwﬂ IR FPRSHIH I AT » 0 PRI (U L
H'%w?ﬁl&f_ et
3. bt ﬁqr_ FRE PRSI (2 S A (SERET 02 T
ESRHH 1T -
4THIR IRy R E'lﬁwl]’&ﬁﬁj :
5 POV TE I TR L Eﬁﬁ”ﬁf I H ™ R~ VR SRR e i
fﬂlﬂij RS Hlﬁ%}% iRt ERINE avad S B *ﬁﬁ"ﬁcurﬁl#&
0. FFRIARFIE 111 20085 77




T FEEEE T FEEEE
T A b SR BT [ R
BEFLPSNS C 01-A I FER BEFLISIS ¢ 01-A T FEF]
- T - T
ik - owom o p h T gg,f; - it ran B i S I h T gf;: i — L=
FoO|EEE A 4 A A (R ~ 2 S
A 401 [W1 §i50%126 i 2,400 3.0 7,200
LOL | #4% 2 g (H=240cm) M 55 330.0 18,150 4.02 |Wla §{f407+180 i 23,000 1.0 23,000
102 |G <7 P = 5,000 1.0 5,000 4.03 [W2 §i50%120 i 2,350 5.0 11,750
T E 23,150 4.04 |W3 §{#7378%126 il 14,400 1.0 14,400
2 | AT 4.05 |W4 £{#325%189 Hif 19,800 1.0 19,300
201 |1 = 5,000 1.0 5,000 4.06 |W5 $1#1291#189 i 18,000 1.0 18,000
2.02 [Feks M2 25 180.0 4,500 4.07 |W6 £{#180%126 i 7,200 1.0 7,200
203 [#1 M3 55 152.0 8,360 408 [W7 éﬂ'gimomo R 8.400 1.0 8.400
2.04 |[p1HE R 75 H (RIS il £ 219 ) M3 75 105.0 7,875 4.09 |W8 ${71250126 i 9,600 1.0 9,600
2.05 |fc'=140kgf/em2 IS W i M3 2,050 30.0 61,500 4.10 WO sl sty g = 1,200 1.0 1,200
2.06 |fc'=210kgf/em2 IS M3 2,350 165.0 387,750 4.11 [W10 £1#1210%240 Hi 16,800 1.0 16,300
2.07 |#RFRC - 21 (fy=2800ke/em?) T 37,000 9.2 340,400 4.12 [W11 §i1180%144 i 9,000 1.0 9,000
2.08 |#RTAC A 1T (fy=4200ke/em?) T 38,000 13.1 497,800 4.13 [W12 §1#160%120 i 6,000 1.0 6,000
2.09 [T o M2 350 1105.0 386,750 4.14 |W13 51590450 e 20,000 1.0 20,000 gﬁ’aﬂw A== FIE
I & 1,699,935 4.15 |W14 Sf{fHI885461.9 i 36,000 1.0 36,000 |GG FATEF Il
3|t A 4.16 [W15 Ef{EiHA1867.54120 Filf 147,000 1.0 147,000
3.01 [#1/2Bj# M2 400 96.0 38,400 4.17 [D1 TSNS A 1504226 i 15,000 1.0 15,000
3.02 f‘”}“ﬁﬂ}fﬁﬁ M2 600 60.0 36,000 4.18 [D2 # FH150%226 i 14,000 1.0 14,000
3.03 [Jy | BAEE L2 g M2 410 55.0 22,550 4.19 [D3 7 FH150%226 i 8,500 1.0 8,500
3.04 | T M2 470 365.0 171,550 4.20 |D4 £{1H90%236 i 7,500 1.0 7,500 | = £ S
3.05 PRI L3 TIARAERI A B 1 i M2 310 480.0 148,800 421 |D5 7 $sifH90%210 i 12,000 1.0 12,000
3.06 fgfzgzﬂ BB ESOFPRER) v 650 320 20,800 4.22 D6 TSI 90%224 + Sfifbi03¥140 | 18,000 10 18,000
3.07 |2 B3RS A Vg - RS R () | M2 330 163.5 53,955 4.23 |D7 £'190%226 i 8,500 1.0 8,500
3.08 |7 = i M2 900 177.4 159,660 4.24 |D8 A P T =5 #90#210 i 9,000 40 36,000
3.09 [f47 5 1t M2 500 85.0 42,500 4.25 |D9 A FH90%210 i 8,000 1.0 8,000
3.10 [fEtit 20 7 Gtk M 5,500 12,0 66,000 4.26 |D10 WIHF FF1100%210 i 6,500 1.0 6,500
3.11 | 2GR T (< )+ e M 5,000 35 17,500 4.27 |D11 WigTITI80%210 i 5,500 1.0 5,500
312 E{%ﬁ%ﬁf;ﬂl% R T RO 420 150 6,300 428 |DW1 Sff 345240 i 26,000 10 26,000
3.13 |2." ¢ R T TS 1R & 400 3.0 1,200 4.29 |DW2 g% P9 #7160%240 i 13,000 1.0 13,000
314 [2." @ 7l T ARERTS E & 350 2.0 700 4.30 [DW3 T Gl st U 1,200 1.0 1,200
3.14 |5y | 2 T M 1,800 19.0 34,200 I &t 535,050
3.15 %%éﬁ*@? M2 2,200 99.6 219,120 5 |RIE P FER A
| &t 1,039,235 5.01 [40cmRCEET P sk 2 M 3,300 40.0 132,000
5.02 [80*80cmi& ] psgE R &3 6,000 4.0 24,000
5.03 ST CREEE) M2 1,280 9.0 11,520
I & 167,520
B O OF 3,464,890






